EERER

R-ZEERF=A=+—8

—EERE —EERF
B 2 BT T BT

ERBEE
M BEKEZE 17 3,048 851
KRB AR ZI&E 20 115,332 90,040
REZ RNRlZ2&E 21 1,686 1,686
HFERE 22 1,430 —
FEHIRE 23 - 2,278
BEETIEE E 24 36 377
121,532 95,232

REBEE
H 4th e W BR 3R 26 801 2,413
JE W BT B A B BR 3K 40(b) 242,122 237,107
RITHEEFELR® 28 2,561 7,115
245,484 246,635
REBAEE

H b e BR K 29 7,010 6,240
JE A1 BfY /2B & B BR 3K 40(b) 33,032 21,813
JE 5 B IR 346 —
RITIEE 31 129 —
40,517 28,053
RBEERE 204,967 218,582
326,499 313,814

BEAXRREE
& Zx 32 70,428 70,428
& 1% 33 256,071 243,386
326,499 313,814

EEy MRz
2 2






